ye

———
%—@.M@ﬂ.ﬁa .

3) Wi r
TR Fifrg . P Prafree w W WA (03) WE W R el w |

fer $ifeng - Consider the followi
A FHifvg S T e (03) iterns .ﬂu.Oacﬂﬂﬁm for the next three Consider the follgyig,
Wﬂ@—ﬁ % < wh x,yeN frraRreem . . ’ (03) items that Toyge s o8 e, ey
Flx+y) =1 () O) = : Th N A, e ik Let £(x) be a funet - o s A three
EoGH ) T AR H< Sifata a lunction satisfying f(x + y) = A universiv
¥R )= # wgw wem frw 1w x o S () for ail x, Y 3WaTded medas -
M=2%: (x < 6) R TFT A * »¥ & Nsuchthat f(1)=2: football and <o—__o¢¢ﬂ%auwﬂuﬂdﬁrﬂfv=
3 x M_w o # g B, SR E 15k (x < 6) 2Ot medal n Al th e tens
1. — =T e | 5x IS STEHTAS “ . the medal oong,
il HMN\.AHv =2044 %, W AW w0 4x+15) == Mﬂﬂ.ﬂhﬂ ST (x+25 #, 2 Laf nM.m_.HﬁNu =72044, then what is the It Biwﬂ%a%n.w..kao ”.‘”MMW aﬁ_wux%m.
' 7 =teltater 3 g g ) * ¥ _ value of n 7 m“_.“ n._...u .”_mmwﬂnuwﬂwﬁmf ._._—.” football and ._mxnmmwww
H ) b cyoall,
2 ;
(@) 8 4. £ 3t = - ,Wrdm. ® .W %ﬂ.., W- s (@ \L/ 4. How many received medals in exactty
®) 9 uew e v ®) 9 A two of the three spors?
) (@) 30—4x
(@) 30—4x © 10
© 10
®) 35—7x (Ab% 1 ®) 35-Tx
@ 11 ©) 40—Tx
(c) 40—7x
U s
2] d) 45—5x .. 2. Whatis ¥ f(2x—1) equal to ? 5745 — 5
2. ¥ rex—1) forod swmr & 7 @ it Wu_
=1 . = 5. How many received medals in at 1
m.._wﬂnﬂ.e ;.ﬂmqlawﬁ.@ﬂ#m,ﬂﬂm.ﬂdﬂmw - (a) 341 two of three sporis ?
(@ 341 <l 3 agw e 7 CHe - »AJWA
(b) 682 r@\ 30— 6x a8
©). 5% @ s0-ex . il (t) 35-—6x . X 39
1023 N \ 0 :
(© 1023 & 35-6x o
© 40—5 @ 1364 @ 40=z=
< —5x
@ 1364 -
(@ 40—6x _ﬁ e ) (d) 40— 6x
3 : 3. What is 3,2% f(x) equal to ? ) )
e ) . 6. H d medals ctl;
3. MU—NH\AHV,@EWNH_NH.WN 6. Tt =1 drt Ot ¥ O s @E A = omuonm—u;n_—aﬂ.“n%w“.nh.oa in exactly
X=. H
e oS ? .
@ 1365 @ 1365 @ 21x—40
@ 21x—40 ®) 2730
() 21x—35
) 2730 ®) 21x—35 St
4024 20x—35
(© 4024 () 20x—35 N
- d) 20x—25
@ 5460 (d) 20x—25 (d) 5460 I
; 3 C — DFRG-S-MTH
DFRG-S-MTH — C 2



R e 03) wEl F- t grfts Hnﬂm.nﬂﬂﬂ._.m ? Consider the following for the next threc 9. What is e ...
fEaR %ww_.ﬁa. “u *fim b %4 | (03) items that follow : determinant of 4o T gl of
0 sin?0 cos’O ® 3 cn sin2 0 nomwe (@) .w. w.\umo
A HRQ 4=|co?@ 0 sin?8] R ®) W Let A=|cos?0 0 sin“0and {
2 sinf@ cos’@ 0 ® 3z ~ oy
sin@ cos’@ 0 @ 3 . ﬁng AP
= ] wafi ar A =P+ Q where P is symmetric matrix an 3 i
A=P+Q% 7w PTH s & AR @ 1 0 is skew-symmetric matix. © 7 . \b
QT Trew-wafia smegg £ | . o @ 1 \ aPm
e mﬂ%ﬂ%&ﬁ&ﬂ@a?ﬂ@@mﬂ 7. What is P equal to e
rF b . fiar fif - 0 172 12 Consider the following for the next three
0 1/2 172 . . (@ |12 0 12 (03) items that follow :
@ 1 s ApC v P s & 6 AB= 10 2z o BC is a triangular plot with AB=16m,
172 112 0 BC=10m X Qnsa»_qﬂm&w K BC=10m and &n_oa.ﬂ_w%:s,w
; frerelt- ‘ i i i ide AB
0 qefag W Th Fre ( ) situated at the middle point of the si i
1 m _~ @mm_ﬂmmq&m»wmmﬁ&oﬂ_% awv ” m.w ;nﬁgvvomﬂmnd"n:%mbmamﬁ&oE.Eo
110 @mdﬂd. T..UAP_) ) vertex B.
wRar e !
0 -1 1 ] :
: ?
¢ -1 1 _ 10, Fdvee Fr g @R ? re? © cos26| 1 0 =1 10. What is the height of the lamp post
(c) cos26( 1 0 -1 @ 6m und -11 0 (@ 6m
0 -1z 112 (© $m 0 -2 12 oy 8 m
() cos26| V2 0 -2 @ 9m (d) cos26] /2 0 -1z (d) 9m
e\ 20 . w13, ve 0 11, What is ~AZ. equal to ?
1. 2B for w7 . oS ? . . - sinC
8. O fFeS TR % ? M,w_ 7 - - G | *8.What is Q equal to? @ 17m
a m / -
0 172 12 ) e 0 172 12 ® Om
@ (12 0 12 O % m - At (a) “a Ho r% 3
122 72 0 o> 2 172 40
011 @h_%a 011 o5
e ;
110 12. cos A +cos B+ cos C Foredh sRe & 7 . [ ) 110 12. What is cos A+cosB+cesC equal to ?
@ 1 ¢ | 1
0 -1 1 2 0 -1 1 *
(©) cos20| 1 0 -1 41 ] ¢) cos26| 1 0 -1 41
110 ®) 25 | ® 110 ®) 25
37 37
e T © 35 0 -2 12 © 325
(d) cos26( 1/2 0 -)/2
om0 @ 3 (d) cos26| V2 0O ~li2 =
55 -2 V2 0 & 55
5 C - DFRG-S-MTH



NS, TR iy T

W W (03) W frfefin
wam&wﬂu % fg w

T R AR % ofter 3 3 fig pak
Y
w%%&%%aw_&ﬁwﬁ@
< Wxdlk QR gl pk (x> 1PIRQ
R ARR & ofid F swa S g 150 90K

. 7%

J
m.%_ﬁg%a%i%mﬁ

?

x=y

(a) Wi

=y

® 5

() uMw

x=y

@ ="

14. 3% HAR @ Mm@ gEE o R @

cotd TFad R 8 ?

(a) m+|.|)\wo,.|u\v
x+y

o 2-33=2)
x+y

(© N+E
=y

ﬁﬁv MI.&«MAH.—-EV
x=y

Um._ﬂn.m.z.__E -C

16, elt foret TR o Al g HEATg
&, forr it of from € 7
(a) 625
(b) 400
) 196
(@ 120

17. MMS? r) forad TR € 7

r=0

@ 2"
) 3"
() 2*

mn..__ wma

Consider the following for the next three
(03) items that follow :
There are two points P and @ duc south of
a leaning tower, which Icans towards north.
Pisat a distance x and Q is at 2 distance y
from the foot of the tower (x>y). The
angles of clevation of the top of the tower
from P and Q arc 15° and 75° respectively.

13. At what height is the top of the tower
above the ground level ?
Mr

Hll
2

e

|

&

(@

£ —]

b
1
=

(b)

=
1
2

()

.

b
1
]

(d

N

14, If @ is the inclination of the tower to
the horizontal, then what is cotf equal

to?

@ 242
(v) MIJMAMHE
© N+&aﬁmu5
) ml.,m“mws

,p

x=y H+A Jmﬁk.._.wuw.u

=y

© 5

(
x=y

W
L — .«1&%?;9@ H+E~u

@ 5

16. How many four-digit natural numbers
are there such that all of the digits arc

odd?
(2) 625
(b) 400

e 19

(d) 120

.

n
17. What is ¥,2"C(n,r) equal to?

r=0
(a) 2"
(b 3"
(© 2
(d 3*
C - DFRG-S-MTH



18.

AR a= ‘MATHEMATICS' % aieci &
afirt serrdt < o e hE
o s, @ oo o R 0w
(W 0 ) §, 1 ¢ % ww A
S T R N T o 7

() 302400

(b) 403600

(c) 907200

(d) 1814400

19. ot vt w far B :

LaR £ ZxZ & T STEEE ¢
S f= {Gy, x-y)xy € Z} T
Rl 8, A, ZFZR T
e §

2.7 f Nx N & TF ST
W f={Gy, x+y); xy e NPT
Rt 8, AANINR D
W R

I # ¥ Fw-m/En-a w wl
R/E?

(a) Fad 1

(b) Fa 2

(c) 13k 23mi
(d A 1,7E2

app dp a3
Ne.ﬁ% A= a2 an an b [ .mﬂ._.h

: az 4y 033
#ifog 1 7R a3 =)z, 83 =X, 33~ X
EIEN a3, da3, 033 £ d.a.m_._.n_...mamﬂ FHHAL
(z-y), z-x), (—x) & A A F AW
e ? .
@ C-Wz-x)0-x).
() -y}y-2)x-2)

DFRG-S-MTH ~ C

() (x=)E —xy-2E Tyt z)
@ =t ) +y+)

1 0 0
sinf? .w.m.:

21 afy 4=|0 cosd

0 sin0 —cosd

e ¥ AR TR E?

L. A+ adiA T T I &
m.kn_+n&iﬂﬂﬁ§mﬂmﬁw _
3, A A" A IE &
43 Ry T g AT W T TN
g :

(a) el 1 3R 2~

(b) e 23
(c) Faw13R3

) ___,us.:u

22,7 X 3 x 3TN T ARG €, VT

2% 3FIfE & g § R Z@ 3 x2
%ﬁﬁmmw,mw.@ﬂ?@amw

P2 FAA TG 8 ?

1, Znx & 9 wRfeeat @ @t
g ®

2. Y(XZ) T 4 wiafedt awn @
T .

3. x(yz)utomfia et §

1 fu T FE W A W T ITW

gfm

(a) Saet13R2

(b) Faer 23 3

(c) Fa13R3

(d) 1,233

18, If differcnt permutations of the letters

of the word ‘MATHEMATICS' are
listed as in a dictionary, how many
words (with or without meaning) arc
there in the list before the first word
that starts with C'?

(2) 302400
(b) 403600
(c) 907200

S 1814400

119, Consider the following'statements :

1. If fis the subset of Z X Z defined

by f= {(, x~); x,y € Z}, then
fis a function from Z to Z.

2. If fis the subsct of N % N defined

by = {(xy, x +¥); x,y € N}, then
fis a function from N to M.

Which of the statements given above
isfare comrect ?

.hvw\H. only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

20, Consider the determinant

8 42 9
A=|ay ap 63|
a3 a3 a3
If a3 =yz, an =% Ay =Xy and the
minors of a3, da3, B33 are respectively
(z-), (z—x), (y—2x) then what is the
value of A ?

L G- )e-n)0 =)
() —3)y-2)x-2)

(c) nuleulquluxn.r
y+z
G} 3+.§+§¥+w£ g

1 0 0

u_.z.muononc&:o .
0 sin0 =-cosg) then which

of the following are comect 7
1. A +adid is a null matrix
2. A7V +adjd is a null matrix
3. A—A-V is a null matrix

Select the comrect answer using the
code given below :

(2) 1 and 2 only
(b) 2 and 3 only
(c) 1and3 enly

(d 1,2and 3
22. If X is a matrix of order 3% 3, Yis a
matrix of order 2 x 3 and Z is a matrix

of order 3 %2, then which of the
following are comrect 7

1. (ZY)X is a squarc matrix having
9 entrics,

2. Y(XZ) is a square matrix having
4 entrics.

3. X(Y2) is not defined.

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only

{syT and 3 only

() 1,2 and 3

C - DFRG-S-MTH



A, Tt 3 e % W €
@@ 0

o1

{c) 2

(d) FGTa: @ w

24, Frfafen Faat w fer A -

1 3 3 % e R T
e @ g @
e ® |

5 100 & o W frer iR W
ﬁmﬂ‘mnﬂ%mmmﬂnw_

s 3 & -/ T
/87
(a) Fae 1
(b) FIT2
() 1R 23
@ A LAE2
25, ErafirRad Fadt o R HFMT :

_.N+a+m+...+manau+,a
2 s md+n+4l TP g
dam a F g §g TE I
w4 ©
ITH 3 o-FA-E/A-Y A
/87
(a) ¥ 1
(b) Fw2
(c) 1323l
d AT 1,792

DFRG-S-MTH - C

10

Nq._mmﬂamﬂw@ﬂﬁmwﬂwﬁ#

.wﬁ.ﬂﬁﬂﬂaﬁw,@ﬂ%uﬂm

g Y 1em? ?
@) 1++2om
®) 2++2cm
(© 2+3cm

@ 3+3cm

28, W T 4= {7, 8,9, 10,11, 12,13,
14,15, 16} & #R f: 4 SNfE)=xF
Heqw s UEEe, gt
2| £ % it 3 for omda ® 7

@ 4
® 3
© 6

@ 7

23. For how many quadratic equations, the
sum of roots is cqual to the product of
roots 7

(2 0
1
) 2

&E\Em::&w many

24. Consider the following statements :

1. The sct of all irrational mumbers
between /2 and /5 is an infinite
\.\H\u sct.
2. The set of all odd integers less
than 100 is a finite set.

Which of the statements given above
isfare correct ?

_ay"1 only . \
(b) 2 only @ % XG/XL(
(c) Both 1and 2 @‘/ o.x/
(d) Neither 1 nor 2 A

! Consider the following statements :
1. 2+4+6+..+2n=n*+n o~

2. The expression a2 + i +41 always
-.. pives a prime number for every

A r»ﬁ natural number 2
_,_ww.rxyr/ Which of the above statements EE.../
correct ? D
@ \ (2 1only .vrx,ox \
AT
X /_r.vK,V

3%
_wﬁ”h,_ 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

®
@ y\c,/ A

G\xﬁf @ 8 xm,_qo%@

26. Lt P.gip>

quadratic 9 B2 the tots of the

M.H”n nu”.%cuﬂaﬂ“wwﬂww”ﬂnlo
ésnn—mulanﬁﬁfs.w pq=0,
N

®) 3¢

© 9Jc

@) 9

27. What is the diameter of a circle
inscribed in a regular polygon of 12
sides, each of length 1 cm?

{2y 1442 cm
(b) 2+v2cm
(© 2+3cm

(d) 3++3cm

28. Let A= {7,8,9,10, 11,12, 13, 14,15,
16} and let f: 4 — N be defined by
f(x)=the highest prime factor of x.
How many elements are there in the
range of f?

(@) 4
® S
© 6

<5 7

C — DFRG-S-MTH




29, 7 R R, ¥ A N 1 gy &
R={(x,y):x,ye N3 2=y} &I
wff # | Pt ¥ & #9-8
W wE 7

1 @0 x e N R (r,0) € RE
2. (xy)eR=>(x)eR
3. Q.memmﬂ
2)eR=>MmzeER
&wmnﬁmmﬂn&aﬂﬂ%mﬂ
i :
(a) Fae 13K 2
(b) Fae 293
(c) Fae 133
@ 1,28K3
30, Frmfufea w fer FIRT :
L. ANB=ANC=>B=C
2 JUB=AUC=>B=C
gofw | @ F-mr/FA-8 T 8/
g7
@ Fad |
(b) e 2
© 13dR23H
@ T ,TA2

31 Shgmhw.l@ AR AR ?
B
_2
3

{c) 2

Lkl

F S
12 nomﬁwwv+n9mﬁnqw+
2 Eunomﬁﬂv
T 17
AR TR ?
@ 0
®) 1

\)
n ﬂﬁﬂ.mﬂwc //\J 7
wm.gﬁ.lmlv /\ //..«J
£
(a) V2-1 f..@
JZ+1
o ot
(c) 1-42 _
@ -(¥2+1)

34. tan~'cot(cosec™'2) forgs TR B 7

@ %

A

()

=15

©

(d)

win

20, Let R be a relation from M to N defincd
by R={(x,y):x,ye N and £=5}.
Which -of the following arc nef
corrcct 7
L (rx)eRforallxe N

2. (5, ) € R= (1) eR

3. (x,y) € Rand
Q.Nvmxuv?&mm

Select the correct answer using the
code given below :
(a) 1 and 2 only

o2 and 3 only

(c) 1and 3 only

Ah&\r 2 and 3
30. Consider the following :
W ANB=ANC=B=C
Y2 AUB=AUC=B=C,
Which of the above is/are correct ?
(a) 1 only
(b) 2 only
(¢) Both I and 2

(@ Neither 1 nor 2

73n

31, What is the value of Smnnﬁ

_2
(v 75
{cy 2
(d) -2

32. What is the value of

St
SASYS .ﬂf

(@) 0 Nsu?ﬁnsﬁwf

® 1

(c) 4 nomﬁ%.w namﬁm..u

(d anomﬁ lm..ﬁv Q«Ju

—

33. What is the value of Emwm.u ?
X
@ VZ-1 P.QW
&
r%\gmi
© 1-2 \
@ -(v2+1) @

34. What is tan~Tcot(cosec™'2) cqual to ?

@

ooln

B

®»

Bl

(©)

wln

(d)
C — DFRG-S-MTH



23. ft R et & -
%ﬁ.ﬁm#ﬁiﬁwﬂﬂﬁﬂm
@ o
® 1
© 2

(d) e =
un.mﬂgﬂﬁﬂ#ﬂ.@ﬂﬂ%ﬂ"

1. 2 R 5 ¥ ofw i il aiem
A W AW T S

e R
2. 100 & O wit fawm qiel &
wY=Y o IR gy € |
IEF F @ F-A1/FA-8 T W
&/%7
(@) Sadl
(b) %9 2
() 1325t
@ Adr 1,982

25. Prefafaa =t ® fmm mm_.?n :
1.2+4+6+.+2n=n+n
2. FTE pita+4] WAS HTR
dEn p % U w3 w s
He T @
I # A-wE-a /A8 wEA
/87
(a) Fa41
(b) &4 2
(©) 149k 25mf
(d) a1, TE2

DFRG-8-MTII - C

), foam Tt

SR g @79 .
Nm..un._‘&.ﬂ.._.nﬂo Wﬂ % .ﬂu QM..-.?QVO
w_um.%,&u-:nauow. £-q

fry A ]

@ e
AS_ 3¢
© 9
@ 9%

By n &, Pt ¥

mﬂ%_ﬂﬂ 1em® 7
@ 1442 em
(b) 2442 cm
(© 2++3em

(@ 3+3cm

28. 7T difm 4=1{7,8,9, 10,11, 12,13,
14, _u.éw%a;nvz.hanaw
Tea AW AEs, T qfenfim
2 | % i # fr e € 7

(a) 4
) 5
(c) 6
(d) 7

10

23. For how many quadratic cquations, the
sum of roots is cqual to the product of
roots 7

(a ©
® 1
@© 2

Q«&\Fms:aw many

24, Consider the following statements :

1. The set of all irrational numbers
between ~2 and 5 is an infinite
S set.
2. The set of all odd integérs less
* than 100 is a finite ¢t

Which of the statements given above
isfare correct ?

_ ey T only . \
O
() 2 only @% xﬁx
(c) Both 1 and 2 @/ A\
0
(d) Neither 1 nor 2 «
! Consider the following statements :
N p.u+n+m+...+uaua~+=nﬁz

2. The expression n? + n + 41 always
i gives a prime number for every

I ® ud natural number #
\b A\ Which of the above statements is/
@& correct ? " Xu/w.”/
xar/ (@) 1 only .VFK &ﬁ/
¥ Wy
@ R % 2 only @
@ (¢) Both 1 and 2
(d) Neither 1 nor 2
& .wxz,,, A 11
o X A\ .mx.w \
R B

26. Let pq(p>

1 q) be the 1oois
Quadratic  cquation < » by M_.nm.w

where ¢>0, If P
then what is p-g nﬁcﬁnﬂol.w:hnlo.

U e
() 3c
© 9Je
(d) 9¢

27. What is the diameter of a circle
inscribed in 2 regular polygon of 12
sides, each of length 1 em ?

day 1442 ¢m
() 242 cm
© 2+3cm

(@ 3+3em

28. Let A= {7,8,9,10, 11, 12,13, 14, 15,
16) and let f: 4> N be defined by
f(x)=1the highest prime factor of x.
How many clements are there in the
range of 7

(@ 4
® 5
© 6

“ 7
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1650 A HE? |

2)65° + €O
3s. frqm 38. tan‘l
ABCH, g=4, p=3, c=2¢! 35, In a triangle ABC, a=4, b=3,c=2. 38. What is the valye of
cos3C T R & 7 @ 7 What is cos3C cqual to ? tan?165° + co?1652 7
2. 7
@ 28 ® 14 @ T3 (@ 7
14
a 3 1L ®
® 135 © ® 728 5
443
7 @ s¥3 r ()
() @ © =
o S B3
. jig
(@ m 39. mammaﬁm@%muaﬁﬂu A @ ult__
mﬂw.ﬂ.ﬂamew A 39, What is the value of .
36. cos36° — cos72° foras FAR 27 36. What is cos36° —cos72° equal to ? mmbhw:a*.wm& mmnhuaullmm '
1 h z?
5 @ -z ] WA where n e Z?
@ 3 4 W'l
1
. _3 (@) 3
) |P\mum ® -3 % (@.f\lu.%
5 3
1 —=
© 3 © 3 © 3 4
1 1 1
d) —= _1 1
@ -3 @ 3 &ﬂ\ 2 © 3
3
37.afs secx=23 & 3Rk x <7 =gafw { ) 37, If secx=2> and x lies in the fourth @ 3
SRS 24 . . 40. 7fe 142(sinx + cos x)(sinx —cos x)=0 e m_.“ hat i the val
23 tanx+sinx A FTE ? 2 g 0<x<360°2 T xfrat WF H”nhﬂu .”ﬁ what is the value of
625 gaEre ? ) 40, If 1+2(sinx+ cos x)(sinx—cosx) =0
(@) - @ €25 where 0 < x < 360°, then how many
168 values does x take ?
- 168 )
o 38 &) TR | -
600 5 o |m% {2y Only one value
6
ﬁﬂu .—QWM 625 ﬁnwv O__.__—V- two values
(0 ¥ & W © 168
@ 22 (&) Only three values
600 (d) IR O™ () 343
600 (d) Four values
DFRG-S-MTH - C ”
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41. 7R A T TRt @ o B
v R & 750 % ww W gh
X F wek # fefifes wE ©
faw $ifg

rwﬂqm_m? |~|.u Al

2-43
N.#Qﬁm_qm"nﬁ%ﬂa%ﬂwmﬂ_ﬂ
Rt
I A ¥ wA-ar/@e-R T @
2/87
(a) 991
(b) H3a2
(©) 13K 23
d A ,AE2
a2.fz P(3, 4) wi ¥ S & T AT
ﬁuﬂ@mw%mﬂwﬂﬂﬁ&ﬁsﬂ
®7

(a) 3x+4y-25=0
(b) 4x-+3y-24=0
(c) 4x-3y=0

d) x—-4p+7=0

43. 8 om T AW @& wEg P ABC
7 MR AB, y-34 R T R O €
5 AB o weafi, Afig W R o B,
ﬂm_mm@ﬂﬂ@mw_a,ewﬁ@
el @R F AC F W W
e T ?

DFRG-S-MTH - C

-

16

(@) .,.:.,mu:.mua
0 .n+.,\m.v_...mno
© Jix+y-83=0

@ fix-y-8¥3=0

A ﬂw%ﬂ.?muﬂ e
ﬁ.“m_mmjﬂ Mﬂ”ﬂﬂm s TR A

%ﬂﬁw&gﬁ@mw_ﬁﬂ
¢ |

(a) 2x-y+1 =0

) 3x—-2y-1=0 i &

(c) Ix-4y+6=0

(d) 25 +3y-26=0

45, s g 1 3% (0, 0) W ¥ R T_H
4 are, w.ﬂﬁﬂw.ﬂwﬂdmﬁmﬂ
@, 2 9 (1, 6 F T 2 @ Eh
Tehgal FT R ?

w2

(b) 3

© &

d 5

41, Consider the following statements in
respect of the linc passing through
origin and inclining at an angle of 75°
with the positive direction of x-axis

1. The linc passes through the point

T u._ L.

2. The linc cntirely lies in first and
third quadrants,
Which of the statements given above
isfare correct ?

(a) "1 only
(b) 2 only
(c) Both 1 and2

(d) Neither 1 nor 2

42, If P(3,4) is the mid-point of a line
segment between the axcs, then what is
thie cquation of the line?

 (a) 3x+4y-25=0

(b) dx+3y-24=0

Sluwuo

@ 3x-4y+7=0

43. The base 4B of an cquilateral triangle
ABC with side 8cm lics along the
y-axis such that the mid-point of AB is
at the origin and B lies above the
origin. What is the cquation of line
passing (hrough (8, 0) and paralle! to
the side AC?

17

( x-3y-g=g
(b) x+3y-2=0

(©) Bx+y-83=0
(Ev\.u‘malw.lw& =0

44. The centre of the circle passing
through origin and making positive
intercepts 4 and 6 on the coordinatc
axes, lies on the line

Y 2x-y+1=0
®) 3x-2-1=0
(© 3x—dy+6=0

(d) 2x+3y-26=0

45. The centre of an cllipse is at (0, 0),
major axis is on the y-axis. If the
cllipse passes through (3, 2) and (1, 6),
then what is its cccentricity ?

(@) -5

(b) 3
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W AR (03) Wt ¥ R frefife W
far fifg

ﬂ._u_.ﬂw._w.ﬁ 2= 1+isin® ﬂm.—mﬂzﬁmw

1-isin@

46. z T H9iw =T R 7
@ 1
® V2
©) 1+sin%0

5 1+45in°6
@ 1-sin’0

47, Y o 1 & ez Ygq: e € ?
@ 5
(2n+1)z
®) —5
(c) nm
(d) ¥ 2nn
ﬂﬂamﬂ%w

48, T 0 @ & A 2 yEw: AR
?7

biA
@ T
s (Zu+)m
®)
() nx
(&) 2nm
W& 2 T T ¢

DFRG-S-MTH - C 18

r

iy
me.ﬁw_ama&ﬂﬁﬁmﬁw m%
LA

=
(a) 11/29 .
&
(b) 22/49 d J -
(c) 33/59 Gﬁv«o
(d) 44/69 ,Q

51, 7 m.aﬁ%%ﬂw%u.wﬂmn
aﬂw"%wﬂ@@mwwﬁx.ﬁﬁu
wel g ?

() D>d
®) D<d
(c) 7D > 12d

(d) 3w # 7 B

Consider the following for the next three
(03) items that foliow :

_ 1+isin@ P
Let z= T—isn0 where i =+=1

46, What is the modulus of z7
(2) 1 ,
) V2

% +sin?8

1+sin’@
@ Tsin%e

47. What is angle @ such that z is purcly
real ?

@ T

®) (2n M 134

(¢) nrm

A&\m.ﬁa only

where n is an integer

48. What is angle 8 such that z is purely
imaginary 7

@ o
2n+Dr
© St

(c) nm

iﬁ.

where # is an integer

19

Consider the following for
(03) itemns that follow + ¢ next three

Let P be the sum of first n positive terms of
an increasing arithmetic progression A. Let
@ be the sum of fiest z positive terms of
another increasing arithmetic progression 8.
Let P: Q= (5n+4):(9n+6)

49, What is the ratio of the first term of A
to that of B ?

@ 13
®) 2/5
() 3/4

A 35

50. What is the ratio of their 10th terms ?
(@ 1129
) 22/49

ey 33/59

(d) 44769

51. If 4 is the common difference of A, and
D is the common difference of B, then
which one of the following is always
correct ?

(@) D>d

b)) D<d

&0 > 124

(d) None of the above
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W A (03
R Hiftr .

P +qx F Rug war w far AT :

DFRG-S-MTH - C

S A (03) wat & fg feafifem w
famr AR :
= ‘ocmmdoz.ﬂwmm Hifg

) WE ¥ fg frRifE )

mn.ﬂ.m.ﬂ.wm.ﬂﬂhm - mm&ﬁﬁ&ﬂa@ﬂﬁﬂﬁqﬁﬁg
by Sab b e T R & e e
A @ (vowel) 30T 91 =W (consonant)
@ p & 7
®) 9p (@) 36 . |
: ) 144
© (¢) 576
@ p* ) (d) 864
53. W & Weg Ggt % YU 6 w1 mm.msm&mﬂﬁﬁwﬂaaﬂwﬂa
# (s FER x H o aw # ) ? e ST 1 R & R e AR TR
Aﬁmﬂﬁ%ﬂ,ﬁwﬂq
(@ pq @ 288
(b) p1g (®) 576
(c) 4p/5q (c) 1152 ;i
(d) 2304
(@ Y(pp
. 57, 8 et A UH fraw wdw o Pl
. P anf 2 o0 T O o T o1 Ry & R it o6
g W Bl ?
@ p:ig=T7:2
(2) 5760
2,227
O reaem s (b) 2880
() pig=2:7 el © 1440
ﬁ&.,__ .ﬁmﬁuﬂwﬂ ﬁmv 720

20

I —————————— N gl

Consider the followin:
i g for the t!
(03) items that follow : rext three

(03) itemns that foly Tor e e
i i A the
Consider the binomial ¢ i . a2 "\ three
0+ gy xpansion  of Consider the word * QUESTION: .
55. tlow many 4-leter
52, What i3 the wvalue of ¢ if the L. Vvowcls and two n“”“”awwr ol two
coefficients of x* and x6 are RE& Y without meaning, can be § 5%” el
i A "
-
@ p i %r 16
@.‘uw..f B AG &
qORS ) ®) 144
L\\ 1 c) 576
P
(d) 864
@ P

53, What is the ratio of the cocflicients of
tmiddle terms in the expansion (when
expanded in ascending powers of x) ?

(@ pg
(o) prg

() 4pi5q

¢
.EKHQ&

54. Under what condition the coefficients
of x* and x* arc equal?

(@) p:q=T7:2
®) prigi=7:2
©) pig=2:1

P

Consider the

) @wvw“x\
Kﬁuﬁéxdﬁﬂ © 1152

Oﬁ?..::ﬁ

56. How many 8-letter words with or
without meaning, can be formed such
that consonants and vowels occupy

" alternate positions ?

(d) 2304

57. How many 8-letter words with or
without meaning, can be formed so
that all consonants are topether 7
(a) 5760
by 2880 _.

(c) 1440
(&) 720

C - DFRG-S-MTH
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mmﬁ .w | law o
T A (03 el & g P O o - o scesp + @eoseop |
R it ; Mﬂ e v & ?
A ﬂ%_.m_mﬂ b_. @_._ﬂmm .\m G .ﬁ._.hm._unm W. m_m.u._ Auu :._:mh.“wm .
A= 2 1 2.-4
el IR L
A ay), ayy, ay3 % T € | (c) tan*x=Pq
(d) cot?x=pqd
58. a4y, Cyy + a1,Cp + 41313 7 . !
TAARIR ? muﬂmm\@uMQ..buﬂmﬁﬁuﬂ
- j=l
@ 0 mqm_.ﬁ._ﬂ.mu_d.—.m ?
® 1 (@ x=35
(c) A. ® Hu&u i
@© *=%
@ -4 . @ x5 |
|
59. ay Cyy +azCr2 + aCis : . [+, 0<[x<3 [
AR TR ? 63. % f()=1 " =0 :
(@ 0 . e ¢ Wﬁm&mm_ﬂﬂﬁdﬂmﬂmﬁ@ﬁ
ﬁ.._v 1 : m@.@.ﬂ“
1. e &1 HftaH WA A x=3
(8):4 W AT R |
@ 9 o @ @ sead (S
fife) ¥ x=0 R NS T
a1 43 4 2
60. a3 4y a3 Mﬂ_ﬂqﬂ_.mﬁ._.w ?
ayn ayp a4y S # @ wA-A/FA-H ,m.%
w 2/t
(@) &= 1
e (b) &4 2
© @ A LAE2
DFRG-S-MTH - C 22

Consider the following for the next three
(03) items that follow ;

Let A be the determinant of a matrix A,

ap a3 a3
where A=| @3 a2 ax|and Cyy, Cpzy Cia
dyy Gy dy

be the cofactors of ayy, &4, a3 respectively.

58. What is the value of
ay Cy + apCra + a;3C13?

(a) -0

(b) 1
ey’ 4

()

59, What is the value of
ayCpy + apC + n»uﬁ.ﬂ ? .

(@ 0
o
© 4
(d -A
ay az 4

60. What is the value of [ay; 433 a3
axp dyp A

?

@ 0

b 1
(e} &

_dr ~a

23

61. Under which o
conditions &aﬁ_ the Esnﬂ_”.a: following

Jx) = (psecxy + (g cosecy
attain minimum value 7

(a) tan’x uw.

(b) S”N.ﬂum. _

@\Bnnk =pq

(d) cot’x=pq
62. Where does the function

7
fD=Y -

J=1
attain its minimum value?

(@ x=35
Oy x=4
() x=45
(d) x=5
63. Consider the following statements in
respect of the function
_ _h_.:. oAEMu
fx)= 1, x=0

1. The function attains maximum
value only at x=3

2. The function attains local mini-
mum only at x=0

Which of the statements given above
is/are correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

C — DFRG-S-MTH



64.

12
65. afy ._.M (sin*x+ ooma.av&u =k ¥ A

66.

67.

fyn(5- 1) P w2 7
(@) -1

() o

1

) 2

mnn
127" sin x +cos*xyx 0 v & 2

(a) %

(b) 10%
(c) 20k
(d) 40k

ni2
-l

forers g # 7
&-1

e

(¢%°%sin x + &*"*cos x)dx

(a)

(®

©
@ o

R+y2=gd y=sinx T x=0 }
ﬂdnﬂ«.@ﬂzﬂmaﬁmﬂwﬂﬁw&ﬂ
wE?

@ -

(b) a%lm

DFRG-S-MTH - C

©@ 7
2
@ G2
s R ﬂmﬂﬂﬂﬂﬂﬁﬂd%ﬂ“
BTG mm.fnom mkuno
1. R dx dx
« "4 1R
M.ﬁuﬂmﬂwﬁs
3
Hm& +¢0S m&.t.o
f Hf 2% |
/27
ﬁmu wmmm_.m
(b) Fa@2 :
© H%N&ﬂm
@ TR L,TE2
69, Tty T 3 HIR I - T a1
W G F T A I T
e

(2) xmmﬁwuo

(b) Hmlm._\uc

) »

) y

dx

Muw‘.u.

dx

dy

2x=0

2x=0

gl
64. What s _o,.aﬁu_u.: equal 107 © muui_

(@ -1

(b) 0 c@\ .l.mwlu
RCg
(&) 2 % Consider the following statemenys -

(.
65, If ._.o @_a._u.voam..uu& =k, then what

is the value of 5 Qm_._ak.voo%auan ?

1. The degree of the differentiy

- equation m.m+n8hmmu =0is 1.

2. The order of the differcntial equa-

@ * 3
(b) 10k tion H.me_.v +n3ﬁm.mmw =0is 2.
(c) 20k '
? 40k Which of the statements given above
is/are correct 7
66. What is ku?eaau_.:n._.m%unoﬁw& (@) 1enly
equal to ? (®) 2 only
@ %“L (c) Both 1 and 2
. (d) Neither 1 nor 2
e e+l
e . 69, What is the differential equation of the
family of parabolas having vertex at
© 1-¢ origin and axis along positive y-axis ?
e
(@ 0 () km.am+u\...uc
67. What is the area of the region enclosed
in the first quadrant by x*+)2=gx2, ) h.@.;lnwn 0
y=sinx and x=07 d
n’ 5 .&Ia.+m =0
@ Z-1 © yg+2s
3
i1 dx _,__
(b) Mlm %Nﬁ. 2x=0
25 C — DFRG-S-MTH




it @ 76 79
> 78, @ = ? .
AT — 73. e n N : 70. What is the solution of the differential 73. 1T n>7,
o 7) _ cquation (dy — d e what is the probabilit
(dy ~ dx) + cosx(dy + dx) = 0 Quation (dy — d) + cos x(dy + dx) = 02 that C(n, 7 is o multiple otar
Q f
h dﬂ. ) .w. ? G.G _ ﬁﬂu y= _uzﬁ u x+c % a_c, !0\
) 7 \ 1 XN W
(@) wnﬁ_@usin ® 7 ol _ ®) 3 g .«e@
= X
- 1 __ ) v_tmsshmu x+c .., _
®) y=1i - 2 _ o %
) =gt muv rre =2tan( £)-
@ ! _ () y=2un{z|-x+e @ 1
(c) y=2tan[£)-x+c _
ﬁuv s 10wy wEwEl & W A | @ y= Baﬁ u 2x4c 74. Two numbers x and y are chosen at
m_ |&6 x ARy wg=em wuw g random from a sct of first :.. .EEB_ Q2
)] wugmm& —2x+c s 2 T 4 (c+3) WA 27 . numbers. What is the n.wogc___q that " w..o
_ 71. Let x be the mean of squares of first n (x +y) is divisible by 47 Ca "
. natural numbers and y be the square A .
1.9 Wifog x 999 # SErl el (a) W ! _ of mean of first n natural numbers. «Mn% m J.;J "
% it e ¥ 3Ky F A . | If 93 then what is the value '
dﬁ%wﬁﬂﬂiw_nm @w . | y = a2 @m
£ .nm AT AT ? of.n ¥ 9
8 a) 24
(a) 24 © 25 _ ﬂ (@) © W
(b) 25
%= : @ = 27 9 L
(© 27 45 . | %@\ @ 23
. a | (d) 30
(d) 30 75. %499 n mﬂ_ﬂ wEnE § ¥ TE e x | . 75. A :usvn: is chosen at random from
S argeadl T art @ | T miiEa R e 72. What is the probability of getting a first » natural numbers. What is the
72. 13 50TF F gt genst § g 7 . lon ot % composite number in the list of natural probability that the number chosen
U WIST G B I WA T e 7 T T w x+p>2 g mﬂ% numbers from I to 507 : 1
27 L pm_._ satisfies x+5>2 7
== 7 v
@ 1 I T /?. py% @ 15 ; 1 At
@ 3 ﬂ mw f @ 5 N
) 57 JP f : I vy -3 >0
25 1 \& _o a 25 L .m\f\/\\\w
. ® @ ,f r ﬁ Olery ~ :
(c) 2% M. b ; /foo © 18 :
© Hal ) ,_r .v,oJ_,vzrf.,.. 5 © _z_ﬂc
cr A . .nm
(d) 1 UN\ _.O— (d) 50 §.~
LN I
26 b | 27 C - DFRG-S-MTH




6@ WAy fom @ w &w%ﬁﬁﬁﬁiﬂ@ﬂn B ;
2_ 3y 3 gf : . An cquil el 4 3
..w« .«@. ¥ Il W W far ™ : _..u:._un_o_p..”mﬁm_h_)_\nm”m:m_n is inscribed in a Select the ¢
' ﬂﬂ Wﬁ = s o, Aﬁm.mwﬂ wm& @ A=l the triangle | y where one vertex of code given cmﬂms BRSwer usin
WE w®pw P &t @& T = . | parabola, If s at the vertex of the oW g the
W ¢ ek %ﬁ.,_ : ¥ 2 D s et of skicof @’ 1 only
Trfafaa g & ot 9 ® latus _H_m_n and g is the length of the
clum, the i
] i A () 1 aftc 2 3t following is no:n”_ H.;..n: one of the (® 2 only
P=q ?
g A 1,782 _E\ﬁna (c) Both 1 and2
© vnua\wa w9, GF HH, iy arsl W 2, 2, 1 (b) hu)\wm. (d) Neither 1 nor 2
e ST & | ¥6 e & S _
@ 2V3p=¢ £ feamang (direction cosines) F1 ._ © p=2/3 79. A planc cuts intercepts 2, 2.1 on the
. ? 4 coordinatc axes. What are the dircctio
77. Tag 4(2, 4, 6), B(-2,-4,-2): c@, 6,4) r 3 (d) 243p=¢ cosines of the normal to the _u_ﬁa.__. "
sk DG, 14, 12) | ®W Hifaq | (2) <2/3,2/3, 1137
, 14, » A E 77./Consi : <
Freaferfe- oAt § € g /- ) <113, 2, 23> e . _wMH_Mm_n_WM nwmuﬁomﬁm \Mﬁw 4, mn.w_ (@) <2/3,2/3, 13>
wg e/ D(8, 14, 12). Which of the ollowing &f <13, 213, 23>
1, ¥ fig 9 ABCD ofid & | © A%..%m.“wmv . statements is/are comect ? ©
C
2. AC 1 "eAlg, BD ¥ wefag F @ Auml wt Q_lv 1. The points are the vertices of a Au‘m&w.%mv
g R | 57466 R rectangle ABCD.
@ Gr
4 Ry W g T K e W b 2. The mid-point of AC is the same AR
80, Frmfifas @t W fER HIf : / as that of .
Hfg : q: | s that of BD.
(@) F4 1 1. y-e1 % REoua <0, 4, 0> & _ ‘Select_the “comect answeér using the %9&&2 the following statements :
b) 2 = € ) I ...oonn given below : o
A sk 2 S | @ 1 only 1. N.rm.n M:.M_u:oou ratios of y-axis can
(© 132 2 z3e W wa @l % TewmsEE e <0, 4, 0>
(b) 2 onl
(d) AT 1,782 <5,6,0> T € A uu mout 2. The direction ratios of a linc
e ) Both I and 2 perpendicular to z-axi
78, T TR 3 ST v # & F-ar/FA-A FA @ @ Neither ) nor 2 <5, 6, 0> ZHxistican; bs
_ 2P+ —de—-6y-8-16=0 W AN S Which of th
) g . ich of the stat :
R $ifire | fafafee § & 9w/ @ ¥ ; onsides fhe équatio 664 sph iy nqm atements given above
-2 B piPg? phere correct ?
i %ﬁ%ﬂ\ﬂv AT.U - W{._H..u”+m,lh.d|ﬁ®_..lmnl_m”0. A
Faw 2 ich of the followi a) 1 onl
1. ug e -8 = Ty Far € | is/are correct ? wing statements ) 1 only
2 .
Hwnﬁwmﬂcmﬂ_m @mm_ 2 © 1 Rz ¥ 1. z-axis is fangent to the sphere. ) Zponly
—9= 1
(d) A LTE2 2 M__n_"o h_xu::n of the sphere lies on (c) Both 1 and 2
p ancx+yt+z-9=
yok2=90. (d) Neither 1 nor 2
29
C -~ DFRG-S-MTH
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8. PORS G wwiek i & | s P =

%mwuww@m@.mawﬂﬂw ?
(@) a+b
®) a-b
@
a-b
@ =

82. 7 Wi 7 oK & @Mfﬁm%ﬁ
19 = 7+2b M 55-4b FAT |2 ¥R
Pydmmam g ?

(@)

o8

®

wla &8

(©

(@

(N1

83. T W &, b 3K ¢ T & wd W
@mﬂa%&.

?m.&wuthm.&u_.hw,&&
Torer s ® 7

(@

®) -32

© 8

@ 0

DFRG-S8-MTH - C 30

=

ahwﬂwﬁmj‘@ﬂﬂﬁ Wﬂ.ﬂ“?ﬂﬁ.ﬂﬂ
’ 2 i+ Ak m#_tn;.._nh

2p v 1 1 AR B 2

@ 0<x<?

®) x<0

© x>2

() 0sx=2

gs. P 4BC % 0 4 42 €

o R Fk, 3t f+5k AR
+§T&sn@ﬂ#ﬁﬁww i

0

@ .m.

®

ENEY

©

wiy

@ 5

86. 7 i z=[y] I y=[K]-x ¥
_xmﬂn@ﬂammm_ﬂma

wE Y ?

@
(b) 0
@1

(d 2

"

_ @ﬂ .z@ah 15 a parallelogram, 15 Pf =

and DS = =5, then what is pg Enm_
to?

F@\ a+h

(b) a-

Ll §

By
+
ol

(©)

Ml

3
1
ot 8

@ 5

82..Let @ and b are two unit vectors such

»  that m.+mw. and 5345 are perpendi-
cular. What is the angle between &
and Nw

o~ "I\I_
< 2,
@R By Ton

g

=
h—
Ny

83. Let 2, b and ¢ be unit vectors lying
on the same planc. What is

?T&XEL_%.?&

equal to?
(a) -8
Y 32
() 8
(dy 0

3

r- f—\—._.m— are ﬂ._ﬂ ..__n_—:_ﬂ« of
angle between the .___aﬂ”x?a whict, \he
*

2:2 I+3xj+k and |
.IM -
is obtuse ? Jo ik

(c) x>2

(@ 0<x=2

85. The position vectors of vertices 4, B
and C of triangle ABC are respectively

J#k, 37+/+5k and 3f+3k. What is
angle C equal to?

@

AR

G
[NE

86. Let z=[y] and y = [x] — x, where [.] is
the greatest integer function. If x is not
an integer but positive, then what is the
value of 27

(a) -1
b 0

/ﬂ\a}

dy 2
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87. 3 f(x)=
.nﬂm.\mﬂummhni W pr)=he+2 T o1, i st Tl (¥R 2EE) W T 87, 1 f(x) = dx 4 |
CTE fog(x) = gof(x) %, @ kT ar gore s @ T i € R that fog(x) = and gx) = kx +2 guch
ik B N . (%) = gof (x), th ; 91, Three
P TR fira-fom wwm wfifa o § valuc of 7 v then what s (he n&?&mhﬂ_sfscc
. ' il A
(a) 7 & g At (AP)HA 2 @ 7 numbers ?”«.WMHM. m”s:
(b) 5 I i ;
@ 13 < ® 5 @ L
) 4 | . ..d, (c) 4
L ! ]
@ 3 ®) 1g (3 ® 15
1 ; - 1
88. T f(x) = logo(x2+ 2x + 11) FT © 36 88. H”m”. 15 Entus_:_n._:_ﬁ value of the Cﬂ&\m QQJJ
R T R 7 _ ction f(x) = logio(2 + 25 + 11) 7
@ o @ 73 (@ 0 @ =
(b) 1 ® 1.
92. A% P(A) =05, P(B) =07 4R 92, 1If P(4) =05, P(B) = 0-7 and
(© 2 p(ANB)=03%, @M\M PAND)= 03,
P(ANB')+ P(AN\B) + P(ANB') 10 en what is the value of
(d 10 T AR ? “ P(ATB") + P(AN\B) + P(ANB’) ?
. (@ 06
06 89. What is [ (x*)2(1+/nx)dx 2
89. ._.ﬁudumi..&&mmmw W 2 ? MW 57 : ,.E\»p« _. Y*(1+nx)dx equal to? e o wrd) > amn.“éw. -0
. ( +c s 011-0:2
(@ Fte © 08 v , (c) 08 _ﬁﬁre.am u.o.m
2x .
®) Litrec @ 09 A (K) 37 +¢ @ 09 |
2
(€) uF+e 03, g el 1 TF AR ITTE T E | () Z-e 93, Five coins are fossed once. What is the
. . afies A 9 TR W () NEQY @ .u_m e ﬂmﬁuww,__q of getting at most four
@ zx+e e T E 7 ] _
31
31 | . @ 35
21 _ 90. Wh 32
00, (1 - P T 7 ® 3 | s._.a is [ {+inx+ sinjds equal
® | B 5 CE
xe*nx+c¢ (b) 16 (a) xeflx+c
(b) xtfinx + e © 29 %N«bﬂn+n © Wlw
(c) x+efimxte 2 © x+ehx+e
7
(d) xef+lx+e (d I (@) xef+imte @ 3
8
DFRG-S-MTH - C 32 33 C - DFRG-S-MTH



mq.u.m,.\.ﬁh.uﬂhk..r_ m&ﬂhh&ﬂh«.‘lmmﬂ
YR & 5 fog() =gof @ FAT
T T {7

(@ 7
() s
{©) 4
(d) 3
88, T f(x) = log)o(x?+ 2c+ 1) FT
R A w7
(a) 0
M 1
(© 2
(@ 10

89. [(x*)2(1+Inx)dx Forer aqeR € 7
(a) F+c
®) Mwmki
() 2F+c

@ m_\}n
90, [ {1+ Inx+ xinx)ds o TR & 7

(a) xefnx+c
(b) XPefinx+c

(¢0) x+e&lnx+c
(d) xe¥+luxte

DFRG-S-MTH - C 32
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98. A card is drawn from a pack of 52
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108. If y=(x)", then which one of the
following is correct ?

(@) MW+»HQ+N.€«V =0
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(c) Mn:NIMQQfE.«U =0

DL 290+m)=0

109. What is the maximum value of
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110. What is the area of the region (in the
first quadrant) bounded by y=+1 -x?,
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114. What is iy

X
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the following statements -
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WMW LLA(3)=0

© ¥ 2. K1) = h(2)
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(d) Limit does ot exist isfare correct ?

115. What is jjm 3X=2n (2) 1 only
g cosx equal to?
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b -2 :
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119, If y = In? F=xt1) en whatis &
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116. If .\.Ahunlﬂ.lrn._. then what is atx=0equal to?
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® 1 s 1
® 2 @ 2
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